[ Efficiency vs vertpos |
0.5
17" SRR W S S

ertr

H
e
T
-

e

1072 107 1

—ehoC

11111

10 0?
TP vertr (cr%)
Efficiend —— %g

Icm%rég sratvector—teeeevt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.05

©.045F -t e f— -------
p : : : : :
20,04+t SR ST SR
> . . . 3 .
> : : : : :
9,035
& 0.03F
()
0.025F-
0.02E
0.015F
0.0
0.005F-

1.0

Ratio

e

09320 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
80.045,
£
50.04
‘:’é 035
C O 03
;,i) 025
0.02
0.015
0.01
0.005]

.........................

........................

1.9

Ratio

=

o
©
a

5 10 15 20
Sim. PV z (cm)

ik
o
o



	Contents
	Page 1


